
1    184 02101

2    184 02111

3    184 02090

4    184 02290

5    184 02240

6    900 04001   Ø6x25

7    184 02180

8    184 02250

9    102 02510

10  184 00700

11  180 00180

12  900 10003   8x7x56

13  900 10002   6x6x50

14  900 01432   M8x25

15  900 03661   Ø 8,4

16  900 02012   M8

17  900 01047   M8x25

18  900 01062   M10x60

19  900 01033   M6x25

20  900 03006   Ø 6,4

21  900 02005   M6

22  900 01537   ST4,8x22

28  102 02510

30  184 01600

31  900 10006   6x6x22

32  184  02000

33  184 01900

36  184 01850

37  156 10400

38  156 10402

39  900 03661   Ø 8,4

40  900 02012   M8

41  900 01214   M8x30

42  184 02230

43  900 03014   Ø 10

44  900 02112   M10

 

K011/A (2/17)

P. Nr.

Ø

D

1


D

POZ.
ØD1

37

38

100

108

POZ. ØD

24

22

20

7

30

35

4
22

14

15

8

16

6

5

39

40

37

38

21

20

2

17

10

3

18

1

20

19

41

17

11

9

44

43

42

28

Ø

D

2

POZ. ØD2 ØD3

43

9
74 24

79
24

Ø

D

12

30

35

7

31

12

13

Ø

D

3


